FgArea: [0 ]
NC11 P3-16
2025-05-09 (Day 39)




o o o o o o o
o o o o (=] o

N o e} © < N

— —



1 VN

15

10

800 -
600 -
400 -
200 -




1 0IR

0 -
0.8 -
0.6 -
0.4 -
0.2 1
0.0

1.



1200

1000 ~

800 -

600 -

400 ~

200

1 VI vs Du

T T T
1000 1500 2000
DU

T
2500




FR

1

15

10

1.4 1
1.2 1
1.0
0.8
0.6
0.4
0.2
0.0 -



1 setVI

——

15

10

150
125 A
100
75
50
25
0 -



1 (fgArea = NA)

| |
—@— ECI*10% T
3500 4 —@— ECO

3000

hS
250 J Vot

2000

1500 l




—&— PHI*10%

754 —®— PHO




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

[ I
—>— EcFzExp :

| —»— ECdef 1 ASAAAE
—>— water_ec :

3500

3000

2500

2000

1500

1000

Warning: col [ EcFgro’,1 EcPltng/ ] is missing

500

0 25 50 75 100 125 150 175



Plot [’ ECopt’]

3500 7 —@— ECopt
3000 -
2500 -
2000 -
1500 -

1000

500 -

0 25 50 75 100 125 150 175



400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

90

80

70

60

50

40

2000

1500

1000

500

2.5

2.0

1.5

1.0

0.5

1.4

1.2

1.0

0.8

0.6

0.4

0.2

Plot [['1', "lopt'], ['T", 'Topt']l, ['RH, 'RHopt'], ['ETcl’, 'optETcl'], 'LAI’, ’optEtRate’]

5 W /‘\HA ﬂ" nUAU*\\ — ]
v Al I MMer—
VV \ d'\, VV i Y V ~—
0 25 50 75 ; 100 125 150 175

i A~ NA~A~TN — T

E */AV‘V‘\/‘/W N\"\'\ ———

: \/\'\V_

; : \«/\,\\
A VNN W, i -
JEREA A

Uj T L\J\'/ VMY
0 25 : 50 75 100 125 150 175
d
AV
\——ﬂ’f\ ; N
VALY I
'\\\ :
0 - 25 : 50 75 100 125 150 175
d
A =
_ ta
A A,
0 25 I 50 75 100 125 150 175
d
E / / \ — LAl
0 25 50 75 100 125 150 175
E ,'\\“ optEtRate
TRETVE S S T SR T
LAt m
\ V { \,:/V VvV
0 25 ' : 50 75 100 125 150 175



Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]

—@— setVI_ETcl _
—0—  setVI_WN ‘ M" o o886
150 4 —@— sliSetVl A > >e-ed®
g :
100 :
[ op= |
50 -
N E
N O mhnan sl i i

10

20

30

40

50




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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